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An English Translation:

Data Structures and Algorithms

Z

Given an array A of n integers, answer the following questions.

(i) Show a Merge Sort algorithm that sorts the elements in A in such a way that

A[l] £ A[2] £ --- = Aln] after sorting. Evaluate its worst-case running time.

(ii) Assume that the elements in A are already sorted so that A[1] < A[2] < --- < A[n]
holds. Show an O(n)-time algorithm that determines whether or not there exist
indices 7, j and k (1 =4, 5,k < n) such that A[i] + 2A[j] = A[i] + 3A[k] = 0.



